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Name              Date       

 

1. Subtract. 

 

a) 3
1

5
− 2

1

4
= b) 4

2

5
− 3

3

4
= 

c) 7
1

5
− 4

1

3
= d) 7

2

5
− 5

2

3
= 

e) 4
2

7
− 3

1

3
= f) 9

2

3
− 2

6

7
= 

g) 17
2

3
− 5

5

6
= h) 18

1

3
− 3

3

8
= 
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2. Toby wrote the following: 

7 
1

4
 −  3

3

4
 =  4

2

4
 =  4

1

2
 

Is Toby’s calculation correct?  Draw a diagram to support your answer. 

 

 

 

 

 

3. Mr. Neville Iceguy mixed up 12
3

5
  gallons of chili for a party.  If  7

3

4
  gallons of chili was mild, and the rest 

was extra spicy, how much extra spicy chili did Mr. N. Iceguy make? 

 

 

 

 

 

 

4. Jazmyne determined to spent 6
1

2
  hours studying over the weekend.  She spent 1

1

4
  hours studying on 

Friday evening and 2
2

3
  hours on Saturday.  How much longer does she need to spend studying on Sunday 

in order to reach her goal? 
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Name              Date       

 

Solve the problems. 

1. 5
1

2
− 1

1

3
= 

 

 

 

 

 

2. 8
3

4
− 5

5

6
= 
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Name             Date       

 

1. Subtract. 

a)  3
1

4
− 2

1

3
= b) 3

2

3
− 2

3

4
= 

c)   6
1

5
− 4

1

4
= d) 6

3

5
− 4

3

4
= 

e)   5
2

7
− 4

1

3
= f)   8

2

3
− 3

5

7
= 

g)   18
3

4
− 5

7

8
= h)   17

1

5
− 2

5

8
= 

2.  Tony wrote the following: 

7
1

4
 −  3

3

4
 =  4

1

4
−

3

4
 

Is Tony’s statement correct?  Draw a diagram to support your answer. 
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3. Ms. Sanger blended 8
3

4
 gallons of iced tea with some lemonade for a picnic.  If there were 13

2

5
 gallons in 

the mixture, how many gallons of lemonade did she use? 

 

 

 

 

 

 

 

 

 

 

4. A carpenter has a 10
1

2
 foot wood plank.  He cuts off 4

1

4
 feet to replace the slat of a deck and 3

2

3
 feet to 

repair a bannister.  He uses the rest of the plank to fix a stair.  How many feet of wood does the carpenter 

use to fix the stair? 

 

 

 

 

 

 

 

 

 

 


